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CHEMISTRY

WRITTEN

(F) FICTE FS &N Cu AS 2
(¥) T Cu *=T1y Adew 232

01. CuSO, 97 A 5aet 0.965A gy 33 ff 6 4t vremr w1 21 |

02. 52 (It Bual eufen R @)

MATH

WRITTEN

01, y=e™ X ZeeT &N 9 @,

2
(1+ xz)g—x)é + (2x-1) g—;‘% 0

02. y= (x +\[1+x)™ T & 39 @,

d2
(1 +x2)d—x%+x%—m—y=

03. fa+ib=x + iy T, Grete G

0

01.

02.
03.

01.

BIOLOGY WRITTEN

. f%a e

. 25 S5 @ GRS Wouy A1 f5?

. T (T qFT TS TS A A2

. CABAA G RS FAY T T2

. (O I GG 38 IR Wit R oy Rt Reavat =z

ENGLISH WRITTEN

There was a passage about the match fixing incident of Shakib
Al Hasan and 5 short questions regarding that passage.
Paragraph on ‘Why do you want to study in BSMRMU?’
Paragraph on ‘Social Media’.

PHYSICS WRITTEN

a3fe Bl 300K Stes@E 8 10° Pa 51T 0.001m’ T S0z |
ABTE U AR AR T T8GR A FworNa afeFwm
RS S Tl ZE, &S CHT@S A0 S 1:2 |

() vt aferrn Foere fdfy o |

(%) Fweriy e o ffa w4

. 0°C Sralg 1kg IF@ 100°C Si#wi@ra qieew «ifaee a1 =& |

Lﬂﬁﬁﬁ"fﬁﬂﬁ‘ﬁﬂsﬁl

......................................................................

...................................................................
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..........................
e n

' Faculty of Engmeerlng and Technology (FET) :
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PHYSICS WRITTEN

01. 2yF O3 4pF @3 730 4R T AN AYE a2 | fAeq Ay
Wi

(¥) w1 ey Ffa o
() IS 7R SEF G BIeea Afwie fdfy a2

02. i 33: C,= (—+--+CJ

m ASPECT Zerafer
~m ASPECT T

[SHPTCA1S e FfRE-Caee (e Boraue e 7R e (3 Gaa R

WRITTEN

Z 13) a7 g x° @ vt fr |

02. 4316 I ¢o G FaSl Gk x¢ 6 T awfb WAGT (e @I
I G TAGAE WS I | JET0 B JTFIT @O W
firss frfar 031

m AT EOSHRE

m ASPECT GK
' m ASPECT mﬁwﬁ

® ASPECT s
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¥

) g

e

L4
L1
A
Pl

\r
fe A A A A A A A

Faculty of Earth & Ocean Science (FEOS) |l 20%0-9
Tlme: 1.5 Hours i ¢ . Fu“ MEII'kS: 100 ! :>{:.{>‘:-1:-‘*‘?<>(5-(?{?
AR IO MCQ 19, SRR TR
01. T SR (0 Trgee o T Ao g TR S .2
A. Proportional
B. Proportional to the square root
C. Inversely Proportional .
D. Inversely Proportional to the square root E=I5V
1
SIBOIWY] s =3 af* = s ac £ A. 10V B. 5V C.113V ”I}).SJV
=—=—=3330Q
02. I Tt @S [SI@]why] e e e, Ry = 333 -
AMLT?  BML’T' CcMLT'  D.M'LT? W W —_Re_,p-_33 .5
; o, Vg = x E X
SIOWI| <. F = m T, B, [1m] = [M] S Ole 14 B Rp+R, 333+ 10
s B =ML T8 = (LT 0. i @3l coutEn ﬁ%‘z’&?ﬁé’aﬂéw 4.5 faferm <=
03, T A 1, SR A g @R @t a7 Wo TR Ry llimﬁmmwwﬁﬁﬁl '
| 2 1 L, A. 45 billion B. 6.5 billion years
E= i B= B== 4. years s
A.E=lo B.E=lo C.E 210J D.E 21&) C. 6.5 million years D. 6.5 million years

04,

- 05.

y 07.

08.

=

. 06.

Tﬁﬂ%‘i%, Eﬁ—é—mr2 m2=%10)2 et =, 1= Zmr’]
T4 e g RBHTerS crie 2w @7 J551- F by

A. Remain same B. Continues to increase
C. Tends to decrease D. B and C Both

S{@wny

| poegE BT 3%

i OF b, (ST AR GRS T i, S I GagS AR
ii. o o GIES T i, SI@IZT Cote

iii. ST 3 (e

v, SF¢ Gﬁv‘\ﬂﬁ'@'w

GG T I ANF @I TIZE? |

A. Liquid B. Plasma C. Gaseous  D. Solid

[SI@Ww] @G 2 @ @l wga Rejeeia s | 5w
SIFR GG T I, g AT g R TR @ |
IS GF FAH T ST A7 (A0 1 km T SRS T
G TSI 6 © A7 :
A9x10°N B.6x10°N C.4x10°N D.7x10°N

9 1x1 Q1=CI2=1C
cmg:ﬁ]l:gxw X(lx]of')’- d=1km=10’m

=9x10°x10°=9x 10°N
95 5 Fiwoa (o Broww afies @ 10° R A SR
G ST elfevEet® 1.57 T Rpfe ffr war
A. 10.5° B.5.7° C.3.8°
[S[@]why] Rprfe, 8= (n— DA b= 157
=(1.57-1)x10=5.7° A=10
5T @A SIfeT GTee a0 IS 70ed AoF @
A. Red-yellow-indi go-grecn—blue-viqlct
B. Red-yellow- indigo-green- blue-violet
C. Violet-blue-Indigo-green-yellow-orange-red
D; Violct~1ndigo-blue-green-yellow—orana%;-ri;i. I Ml
: 1o1ct-Indigo-Blue-
e e ST
-Yellow-Orange-Red
-Greemmn' e: em%’r- VIB GYOR, € - (T

D.6.8°

13.

14,

15.

16.

17,

11. @3

12.

< sy
‘B WW&T“X 0.669

l,J.'_';’c:\
e

0.693  0.693 6.49 = 6.5 billion years

FE 100m/s @R I Aereig Soime e Fose =ar
| 3 (3% 49 389 @ Refg o7
A. 42 m/s B.42m/s C.69m/s D. 69 m/s

u—gt= 100 - 9.8 x 3 =70.6 ms™
100 FHREGE teda 6 P 20 CIFBHRGE ePifie = 997 20

S G TG YA 2 | 3 O B (=08 o7 T OIeeT P
0.5 CTFCST TR (IS QAP | (AT AR @t =)
A. 15 m/s B. 2.5 m/s

C.0.1 m/s D. 0.4 m/s
2’*"ﬁr‘l"fi“““,\v’=~mr'-‘3'~'ﬂ'c=r, m=%=§—’;=4n

ARr=100+20=120cm=12m -, v=4xx 1.2

IR ahes @
e T e @

=4nx12=15079 ms™ = 15 ms™
A MCQ

CIEIRA (NaOH + Ca0) w&f

qIT ST
sy TqrT?
B. Alkene C. Alcohol

A. Alkane D. Acid
R-COONa + NaOH(Ca0) — R-R + NaxCO,
5% (I el Ramer

A.OH
C.NH,

S A5 2 e st Rpyfew e @ ey

B. RMgX

D. All of these A

A. N1<02{C03
C. C02<02<N2 D. N.<C0,<0,
M R O o R |y
A. CaCl, B. Ca(HCOy), C. CaSO, D. MgCl,
SIBIWW] ~1fts Ca’", Mg™' @ Fed' Wi @iZS @ e
S A GAPS AR siifre yA vwe) 23|

i MRS i sl 3 (T SRR It T “iwe

A. Nuclear Charge B. lonization energy
C. Electron affinity D. Atomic size

[SI®IWhY] i sirafiies am caire i czer AR ST
SR 9T R GoF e TS coreer i 9 ofm |

B. O;‘iN:‘:COQ
EYT A

R
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346 EHEISE . Wﬁﬁﬁ'ﬁ
18. 0.1M Tw@® CH;COOH WA H S g 2.25 x 10°M [SIOIWhy] verb &3 T ot 4FE A verb @R adjective I
- 'E:’Pl'CH COOH 7 Ruarewar (o) Fo? FE OLE participle I | &W8 AT lost (lose @ past participle)
A 22 5&: B. 2.25% C.0.23% D. 0.022% aF% A verb ¥R adjective 9T G T P9 lost *fo past
- - = = [H] participle wdfie participle R 1 FTACR |
SI@lw Hpas = C 30. Select the alternative which best expresses the meaning of the
; 107 s given sentences:
e 100" = =223 “We were no more surprised than Rahman”.
S SRyt FTsa T I IRl (e A. We were less surprised than Rahman
% ml@ﬁmm B. Sub-shell B. We were all surprised
C. Orbital D. Electron spin B C. Rahman was less surprised than us
20. Fiee ot R e e Bo BT CRICAT €leid R? D. We were as surprised as Rahman

i We were no more surprised than Rahman 5%~ S
A. Ny(g) + 3Hy(g) = 2NHs(g) B.NO(g) +0s(g)) = NO:(g) eI U i fifTe R | T W T we were as surprised

C.Ny(g) + Oy(g)) = 2NO(g) D.250,(g) + Ox(g)) = 250s(8) | . Rapman (et amem wwet e f&=m) |

[SI@Why] Na(g) + 0a(g)) = 2NO(g) 31. ATTACHMENT: FIDELITY
@A, An=2-(1+1)=0 A. Attraction : Devotion B. Detach : Understand
An = 0 Z(ET BI094 (I &O1F it =1 | C. Investigate : Authority D. Economical : Examination
21, FRH pH. 5.6 0T eI (UAAICd 8 (I T2 Fidelity (STPre7) ST Attachment (Sf%, &%) @
A. Red B.Orange  C.Green D. Bule T4 | Devotion (SEP) T Attraction (9%, &) w4t

SIOIWDY]| tarees e Ff ARG | SEMEIC | FAT || 32. The opposite word of INFINITESIMAL' -

i 1) 8 O b S e A. everlasting B. major C. colossal D. telescopic
e @ 42-6.3 e G [S[@) why [Pt s¢: Infinitesimal (3), Everlasting (9%,
TR ew@e | 3.1-40 |owEbieae | =w Major (g7), Colossal (R5), Telescopic (T AEFT) |
22. 0.1 M 200 mL 539 &8S F317 & T a1 KMnO, e @z | 33. He is a better worker than I am. Which parts of speech.

A. 3.50 B.3.16 C.4.00 D.3.70 A. noun B. adjective  C. adverb D. pronoun
Szmg ® v=200m=02L [SIGIWY] ST CFUT 52 @ W4 GOl RIS better XA
MV(L) M = 158.034g KMnO, 4t 77 | ©12 @f6 adjective |
_SMV(L)_0.1 x0.2x 158,034 _ 34. — book that you have given to me was interesting.
kW 1000 1000 =3.16¢g A A B. The C. An D. (x)
23. H,S S9rs H-S-H T4 (0 T 907 [SI@Iwny] 33 ez ffA2 ©1F The 203 |
A.104.5° B. 90° C. 109.5° D. 180° 35. Choose the correct one —
[SIBIwhy S A. Man poses but God disposes.  B. Man propose but God dispose. :
/(.)\ C. Man proposes but God disposes.
= 90° i D. Man proposes but God disproses. C
24, H,S0, 7 Firoe i SR s 36. Translation of "fSf Fwifoe frelyt qt=tw 1" is —
A. The equivalent weightis 90 g B. An oxidizing agent A. He sometimes tells is lie  B. He seldom tells a lie
C. A primary standard reagent C.Some what the tellsalie  D. He tells a lie sometimes
D. It is not harmful for enveronment [Ansji]

sive . I MCQ

Zmmis |y MCQ 37. AT TR BB 5 = (x : 5x° — 16x + 3 < 0) T J2S P 8
25. Neela — her hand when she was cooking dinner. T SHEN T |
A. burn B. burning C. was burning D. burnt 1 1
TP Sentence-q at that moment, then, that day A3, l B35 C.4, J D.3.5 4
2P FAETS: Past continuous tense T | STl SOrCHITET 4o e . 3

€2 Y 5l JTS I 76 SR past continuous tense-4 T | §={x: 5’ 16x+3 <0}
26. They treated me — I were a child. = 1 4 :
A. when B. like C. as D. as if "{’“("'3)("“3)‘0}:{’“‘:"W”E]
As if/As though &€ ‘T’ | 1 4
II;rcseSnt Si{np]e « As if/As though — Past Simple .. JRaW =S =§w@ﬁm =3
ast Simple < As if/As though — Past Perfect WGB!
27. Control —, Sabah! Everyt%li]ng is fine, so don't start crying. Al SR S D S i . ol
A. yourself  B.you C. me D. herself TR b N R I | OIS T [ kg QT A B 0 kg ?
Sentence WF Subject 43R object 9FE ZE/ Verb @ A 3kgwt  B.Skg-wt  C.2kg-wt  D. 1S kg-wt
"7 (S /emphasis TS object f& reflexive pronoun 9 | SI@wwy]
28. Which of the following is a noun? A L
A. ordain B. imprimatur C. pontificate D. ricochet 15 AB “AC ~ BC AC=10+5=15
SIB[why] ordain w1, AT @), Pontificate (Fem® 1 AB=yAC -BC 4
6% ©), ricochet (ST 507 681) @ efveycw v A qanm | p R~ 15 =+[225- 100 |
©IZ 2TONF TR verb; imprimatur (FECAW, STAS)-noun, ' ! = ﬁ
29. 'A lost opportunity never returns'. Here "lost' is a - I i .

5
2 3J-wl
=3-w
A.gerund o B. verbal noun S\B
C. gerundial infinitive D. participle
4+ ASPECT SERIES # + ASPECT SERIES # « AS

R BC=10

Bl

PECT SERIES « + ASPECT SERIES # ¢
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sl

39. q 97 GO T T & x° + 3x* - 27x + q = 0 AN >
T2 +\3 T
A2 B.3 C.4 D.7

[SI®IWhY] q 9= T 7 201 T “aam A 2 +43,2 -3, - 7

*'he 40. A, B GR C MTEHETT Tl IUFT 4 x 5. 5 x 4 GIR 4 x 2 T
(AT + B)C Wil @7 7@ TA......
A.dx5 B.4x2 G52 D.2x5
[S[@]Wny] (A" + B) &7 =@t 5 x 4
C 93 T 4 x 2
-(AT+B)Caam5x2
N 41, (x—3x+-3———15) 97 fRgfre x fefe oW coriv?
5
o AL20 B-20 €6 _ D40
S (¢ -3x34]-(c-)
‘ -, x qfete o =—°Cy=-120
Ly
) 42, W a=n W, O 2 @7 WA
linf \ﬁ ; y
A.-1 B.i (s D. 1
; SIOWY] a = (1 +i)
P
' @=L+ =r (42— ) =10 =i
st =T, a¥ = (@) =P =i
= 43. (-1,[3) = ColfeTE G e
A.(2,120°) B.(4,240°) C.(1,60°  D.(0, 0°)
B8 r =(-1F + (V3] =2
@92 0 = n—tan™’ ? =120° .. "foq ¢t g (2, 120°)
. 44. BSMRMU *% (3 afqa orfe 3w af e v 4 ez
A. 16 B.8 C.12 D. 11
s[d [SIDIwhy] 26 M e «=fb fier ¢ 3t 4 3 e 3% fog =R
T = C4=5
iﬁmﬁmeﬁmﬁmzﬁﬁmmw ‘C;=6
] LTe=5+6=11
45. f(x) =7+ Wmm
819 & -1 1} B. { i ‘1} i) I R b R 7
]
BOWH 0 =2=22-21 . R=-L1)
46. 3o 0K 7 =71, 9$WWG$WWWWN@WW
CATEETSICE BT 20 | 910 =eT SaT Fl RETH AR ey
13 15 c 13 pal
| “22 22 “32
Y e o 7+9+6=22;
13
AR SR A I =7 +6=13 .. =
@ 47. tan™'1+tan”'2 +tan”' 3 ="
% A.0 B. /2 C.n D.2n
' E 2 243
iif( [SI@[WhY] tan™'1 + tan™'2 + tan™'3 = §+tan11_2‘3
NSRRI O SRR P £+( _E)=n
p 4+tan — 4+tan( )= 2 T3
0 8 f(x) = x(2a — x) R FCEBA | \ s
p B.2a C.2a D.a

Aa

3] f(x) = x(2a-%)= 2axX’
=2 —2 f(x) =0 XA, x=a.

¢ (x())i)—zio } x=a o Ty AT W 3R (T O,

f(a)= a{2a—’1)—a

49,

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

TR @IAITS G v v e R AR R e
A 75% B. 25% C. 80% D. 50 [Ansp.
R AT (W sihea

A. Ploting B. Within tissue

C. Attached to soil D. Submerged

o AR Ceer: T siife s fbe Sk |

o FCAPIRG: “MACaT MG SRl CHTeT |

* qUSIFIZD: T @il Sieaw Bopa SToreca S CareT |

o FIRIBIAMEG: I ST (AT |

SRS (53 ROTIFHTT T ST e (AT G35 331 ZA?
A. 90°C B. 75°C C. 95°C D. 80°C
T SR G St 3 ARSI TR G e F0?

A. Progesterone B. Vasopresin
C. Aldosterone D. Pituitary hormone

o Progesterone: (Z “TERE Gy, &, Sl Zeyifaa
e e |
o Vasopresin (ADH): 3@ A1 AeCe #Fare] 3 7 |
e Aldosterone: (0% Na @3 it ferraer |
Wi S50 Boiw e I oAy I eeE?
A. 2 types B. 4 types C. 3 types
TG YR ST I T (P2
A. Metabolism and growth control B. Ca*" in blood
C. Protein synthesis D. Respiratory system control

QRS afe e o1 2, 2 @ ey e foraeet |
o 0% ST Tt fraet | o Rerdt i e 3 frre
FAibre Wi efewy siear qrm?

A. Hydra B. Ctenophora C. Ceoloplana D. Volvox

[SIBwry] Rfey wawm afesrrer:
rtzae

SRS AT
effSary Volvox, Radiolaria, Heliozoa
Sy , AR (Aurelia), 3 @y (Metridium)
&Sy |Ctenophora &er &a iz (GHT: C eoloplana)
Afey  |aerifs, e, T
(et =g, *E
TIRHE AT G T G216 F1 et coa T, OIT 1 07
A. Blastula B. morula C. Gastrula D. Blastomers
[SIBIWhY] « wF: wizeeils we Reiftre 2o ar s cemies
78 B, O Tl 0T |
° Blastomere: WIS & doofty Wt oy« afsl
(PR AT 90T |
* Gastrulation: S SFTHIT T AT AT =T T WHSF
I B &AfERIE Gastrulation 96 |
A. Amnion and Chorionic B. Ammion and Yolk

C. Allantois and Chorion D. Chorion and Yolk ase
G TR O, 0O I, A GG NIRRT &if.....

D. 5 types [Ans[]

A. 70% B. 60% C. 80% D. 90% [AnsiB
DITABIRTEr T “iteut I RAbTs... 2
A.Nematoda B, Arthropoda C. Chordata  D. Porifera [AnsIH

@ﬁ@wmwﬁm@m%mwmwﬁwm
A, Pluripotency B. Multipotency

C. Totipotency D. Unipotency [Ans[@

<+ ASPECT SERIES +7 ASPECT SERIES ¢ 4 ASPEGT SCRIES ¢ ¢ ASPECT SERIES ¢+ ASPECT SERIES ¢+ ASPEGT SERIES # # ASPECT SERIES 4+

*% ASPECT SERIES ¢ + ASPECT SERIE
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348 AT TeelE it
Solve NI RG CH,CHO+Cu(OH), +NaOH->CH;-COONa + Cu0d +H,0
2 A N sl - A A A NH, N,Cl
0L A= 2i+ 3j+5ka®RB=mi+ 2j+ 10k, m 97 ¥ TS @ HNO,
(SFIRT ATE TR AW A2 ®) O+ HCl %> ¥

02.

03.

04.

05.

06.

07.

ETfww| A LBz A B#|

- (25 +3] +5K) . (mi+2j + 10k) =0
2m+6+50=0 _ g
Im=-56 - m=-28 9, m=-28 T, A LBII |

1 =f AR e (R Il ST i o 5%
S T 9T 3 AT I T (XIS TR 2 x 10''Nm ™)
T _Kl, _YAl | @,
R why| ¥ =7 - F T Y=2x10" Nm™
_2x 10" x10°x5 _ A=1x10"n’
2 100 I'=35
L =100

o> {RTT 4ITF TAT 3 pF, 2uF G 1pF (905 st @ womioee
el it el i TFredr 19 F91 T T 4y R e |
S 4y, Cy =3 pF

T 47y, C, =2 uF

OF 45T, C; =1 uF

11,1 _1,1_1+2_3
. 38 of T TS O 499, —=—+—=c+-=—"=2
% e e 0 20 22 2
.-.cs=%aa:cseclww:.mﬁmﬂ,cs=13—l

40g 97 93 I TS 100°C SHATER TS Foed TS
Jr wAfFare Sieoa g 29?

kg Why| m = 40g = 0.04kg

0°C 99 (A 0°C *Mif7 = Q, = L;=0.04 x 3.36 x 10°T = 1.344 x 10°]
0°C 1T 100°C 2NfTe 79487 = Q, = msA®

=0.04 x 4.2 x 10" x (100 — 0)J = 1.68 x 10°7

- Q=(1.34a x 10* + 1.68 x 10%J =3.024 x 10"

e W WRITTEN

% Rl Py Rl 35 i aefen Ritrmr e R e |
T Why| SiEfe A a1 *FOvET (T GRaRy @ Fe6T AR
e elferaTy egeFS T oo foriid 90 |

O 7Y ST Fa0 ST 2B (A A LIS FROCTH YL 8
TS oh 70 | wopr 38 e wRee gy i grere ¢ U
TR ARES T | Grety RUE B RIea TN TSR 2SI IR
e w4l w2 3UMRE e A ST 5a codl 7 1 @9 6-10%
TNy Fa fera A ARbe |

T
C12Hp0; + HHO ——— C4H ;306 + CeH 1206

FTBIATET ]
CH;"CHZ—OH + 02 _— CH;-COOH ¥F H20

6-10%
G2 FAF AAMCES FI0F 5.0 T AT azmﬁwmmﬂum
mg 419 Gl 0 ©F SR &aed 1 $97

A WhY| w = zit w =404mg

g waF =404 x 107g
HE7 % i Cu 9a & n=2
404 %107 % 2 296500 [T, F = 96500
1T 635418000 t=5hr =5x3600
= i=0.068A = 18000s
Cu @%@ m = 63.54g
fea Rfermetr s 371
A. CH;CHO + Cu(OH), + NaOH 25 A + LB + H,0

NH;
HNO
B. + HCI 2 +
é e 506) C Hgo
C. H,C=CH, + KMnO, + KOH — D + E

08.

09.

10.

11.

12.

13.

14,

H
{C} Hzc = CH; + KMnOd +KOH — EHI— H; + H20

 samis W WRITTEN

Write a paragraph on "How to reduce traffic jam in

Do it yourself.
sitafers WWRITTEN

Rrowrs Ny oft @i T Sovm ey
Ulothrix @@ citerm agfe, a2 am fusa fire
T WP @ (FTE e @Twes atE | @6 Ulorophyceae
Syt e |

mﬁwﬁﬁ?%waﬁﬁaﬁ?ﬂwﬁ#?m )
Solve KNI RGssi: CER o A I R
mm -t e e smfSreme (e oz,
TIFUERET) F@T 0 I W5 T |

iy @ ooifeafe: e IfSrmmfEEEm G
o SRHIEIRERER A (IgA) © SRBEAREE M (IgM)
o ZREEEIREER D (IgD) ° 2l E (IgE)
v T rETEIREr aftr e e |
mmmmawmmﬁrﬁmwm
BTG (o J1EF I (9B ATP tofi 24%) o FHEAes-1
GMWW%W-WW|

s

(IgG)

fergenta il Jemre T3 Twrzae e |
R Why] Grcsis e cares Seety Gy ews @ SRa T
Tfergera TR 30 |

A WRITTEN

(3, 4) CFIFT G (0, 0) d
Solve N

(0,0) (3.4)

ST TR, dx - 3y = 0 - s i, 3y - dy +k=0
(3, 4) g T Frsiow sy = 2 x (3, 4) g e (0, 0) g e
= EL 3{—":_‘]'_““)(4‘_; Lk 2% m

ook 25 0, faedfy Freess s, 3x - 4y + 25
4

Iﬁu " an) e Refr e

=0 (Ans.)

4 4
4 : : i L T
] - fy o - e [ e

J T el
v+ ASPECT SERIES ¢+ ASPECT SERIES + s ASPECT SERIES + » ASPEGT SERIES ¢ ¢ ASPECT SERIES 4 % ASPECT SCRIES + 4 ASPEGT SLRIES ¢ ¢ ABPECT SERIES ¢ ¢ ASPECT SERIES 12
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FAREE AT & '8 IR AT

Tlme. 1 5 Hours

ANag; (T2l gy 9= AaniEs -“ﬁ.‘lﬁ—rlﬁfﬁ
Faculty of Engmeerlng and Technology (FET)

<
<
£
L
4
<
4
4

Full Marks: 100

rrrrrr > » > ¥ ¥ ¥ > 3 B F ¥ 2

rrrrr

ﬂm?ﬁ‘ﬁmﬂ
01. 39 SRF (2 AN@aCet Horaiie 98T (7 WOTE TP ...

MCQ

A. Proportional B. Inversely Proportional
C. Proportional to the square root
D. Inversely Proportional to the square root

[S[@wny] v*= u?+2as; u= 0T, V> =2as = v=1/[2as . voc\fs

02. 2N 3@ @I S ©Ey 989 ©oF o sy w8l I foea s
60° G B FTT Sm LA A T | iver wAfe Ry 774
ATI B. 10J C.5] D. 15]

1
[SI@[Why] W =Fs cos =2 x 5c0s60° = 10 x 5 =5 °

03. 4FF ST Y6 T GFF Y (AF @ IET AT=E I I
OIS @ 2
A. Unit force B. One Newton Force
C. Gravitational force D. Gravitational acceleration

GM
[SIQ[WW] F ==57; M=m=1 &% R = | &< T, F=G,
T @& 4 (unit force) |

04. M= SR TOFE THACE I T2
A. Tonic Bond B. Covalent Bond
C. Dipole-Dipole Bond D. Metalic Bond
[S[@)wny| ~ifvs siqre e (Dipole) w1 @t «ifem =q-
w4t M 9% 2T Dipole-Dipole Bond |

05. *Toa SIFe e RS T @?

Alc A B.AxI C.1ox A? D.Iccxlz
I[=21"AFpV ..
06. 25 ohm GEFHIT ¥ 42 &ted feq 2indey T |
10Q2 15Q 25Q
Vol Vol V-
ll
i sov
A. 10V B. 15V C.25V D. 50V
coTT fReren 7 20,
" 25 _25x50 _
Vs =10+15+25 T
07. ST ARG @7 A THRCFET G R 9% phase @it 4 ||
TR e o feuiem @A 9|
A\ B. 2\ C. 4 D. 8%
[SIGIwhy] wetretidaes = =2 x arerendia
‘. oo = 4 x2l=2;x
i
08. Nucleus @ w7 i Feda-a7 % o)

A. 24MeV B. 1.45 x 10°J C.4MeV

N lank ETHEEESASY

D.3.83x 107"

09.

10.

. ol /= 100 /6T, @t

12.

13.

14.

15.

16.

Radon L‘ﬁsﬁ?@f@a‘& mﬁrssmwr W4ﬁﬁﬁ“ﬂ¢l§%t Radon &%

decay FP0I5 frfr 74| :

A.2x10%" B.2x10"min™ C.2 x 10°H" D. 1.7 day™
T1 4 days

k= ”693 = 173.25% 10~ day™ =7.218 x 107°h™ =2 x 107"

-

The three vectors are 1A= 3i + 2j + k; B=i+ 2j + 3k;

C=1+]+2kFindA.BxO))
A.8 B. 10 C.21 D. 54
W B \ -
ST wWhY] BxC= |1 2 3| = i(4-3)— j2-3) + k(1-2)
A M l.r’\ 1 2
__l—f—J

- A C 31+2 +k 1+ —k) 3+2-1=4
Bt I Jﬁwﬁzﬂﬁmrzm

“iT7 3/HT @ Fo T o Ffr 4

A. 265m/s B.-265m/s C.69m/s D. -69m/s
v=u-gt=100-9.8 x 17 ms™' =-66.6ms™
[Bite e @ 4 g paret deirer)

Torque il 3TFE it

A. kgms B. Joule _C.Nm D. Nm™

@ T=71 x F; 941, © 97 93F m; F9T 955 N
N rtﬂ?l'LﬂWle

1 1

14 B =7 D—g
@am%@ﬁ*mﬁmﬁm 3x3 a3
G A 9T FZ = 2

= {ERN)T x A} = (2% (-7)} ' =- &

56
(zxul) 7 RfeT x 3fefe o1 cr?

A.-24 B. 24 C.—32 D. 32
Emank TG S0 AT A1 | FEY n 9F T &2 |

T S x — 1 = 0 G 3, 0) T
E MR 3, 0)

—4(x—3) B. yY'=8(x+3)C.y*=8(x~3) D. Y’ =4(x-3)

EBI.mI\ ,X—1=0%, a=- | TF| 7 077
(I ANPPAIR a = —1 T3 |
0s’30° + cos’m" +€0590° + .. ... ... + cos 180° = ?
A3 B.5 C.6 D. 7
90 —
SIOW] @i awres = 251 4 = 9

~.8in*90° O S | @71 TR SRNB § 9T WTH 4 QT FACS T4 |
ST =(1h4) =5

. 93 B8R 12 km/hr @O BoICE i | FONRT TS @0 B

6 km/hr U 2R TRTE WioIfEs AR e A/?
A. 120° B. 90° C. 130° D. 45°

(S USRS 6
SIOIW) 1, ot = os i ) = <ov(473) = 120

3+ ASPECT SERIES + + ASPECT SERIES ¢ ¢ ASPECT SERIES # + ASPECT SERIES + ¢ ASPECT SERIES + + ASPECT SERIES + # ASPECT SERIES ¢ 9 ASPEGT SERIES » ¢ ASPECT SERIES ¢+
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AITRF

TS Bifig

18. 12 fior tediw a3l R-99 wem 50 @&, I9 A ¢ B &E
G 15 (e @ 35 (& ST I AL | A &S LS FS AP

BT G0 ST Fo T TG0 AES A2
A. 5 meter B. 6 meter C. ‘3‘5‘6' meter  D. 7 meter
[SEIETIRwWhy| A C B
X M2-x
15 35
42
15x=35(12-x)=>x=?(€wcﬂ3) 1
19 2 {sin”'(cosx)} = ?
- Ix ?
1
A.x B.)—( C.-1 D.1
i {sin”'(cosx)} = —_, 4 (cosx)
dx \1—cos’x = dx
sinx sinx  sinx

1 mcoszx=_-\]sin2x__g;;1—>_i=—l

20. @3 IACH 66 Wt ¢ 5B FT I M= | AW TS AL I 9o
1 G T | 99T Ui AT Q6T TR FO7
35 6 33 -
A 121 B. 11 C. 121 D11
[SEIERWRY| 7 x D
: 10 10 121

21 'a' OF P W &0 A = 21 + 3) + dk, B =31 + 4] + ak @

C =ai + 7] + 9k (579 fou(ld srreAT T

A.-2 B.2 C.3 D.5
234

[SIOIwWhy] |3 4 a|=0=>2(36—7a)-3(27—2a’) +a(21 —42) =0
al?9

=72 —-14a—81 +3a’+8a—16a=0
=3a2-30a+75=0=>a=5

22. G TR (1, —2) REpt @ o 2o T wet ¢ @R o

Yfere e e oieT ZeEl-
A. 45° B. 60° C.30° D. 135°
[S[@]wny| J

X< /}/ =X

y

- e i (W
a —a a a a

S x-y=aDy=x-a=>y=l,x-a. . x= 1 = 45°
23. 100 ST oy AW G A T FeAF oA Feer Ko @
ST FRYT T2
Al B.2
@ "mC, . moP]
24. T [o(x)dx = In(/nx) + C T, G C 9 g7, O o(x) =?

C. 100 D. 99

A.x In(lnx) +x B. - D. xin(/nx)

d Lol
ax ()} = 1 % X = Xinx

25,

26.

27.

28.

29,

30.

31.

32.

33.

34.

35.

36.

37.

38.

gamir P MCQ
The price of a car Can .......... Tk. 10000000.
A. As high as B. So high as
C. As high to D. As high for
Because of his sudden wealth accumulation, he cast ...... his
old friends.

A. Aside B. Up C. Down D. Off D
I have completed my assignment of the morti and..........
A. So as he B.Hehasso C.Hassohe D. Sohehas

[SI®]why] 75 ©&7 So has he | Frerifz Taq A |

Everybody advised him ....... .. smoking,

A. Givingup B.Togiveup C.Ingiveup D. From giving up
Imperative Sentence $1% to & 74 |

Which of the following is correct?

A. The streets of Dhaka are wider than Chittagong,

B. The streets of Dhaka are wider than those of Chittagong,

C. The streets of Dhaka are wider that of Chittagong.
D. The streets of Dhaka is wider than Chittagong.
Which of the following is correct?

A. Very few cricketer in the Bangladesh are as popular as Tamim Igbal.
B. Very few cricketers in Bangladesh are as popular as Tamim Igbal.
C. No other cricketers in Bangladesh are as popular as Tamim Igbal.

D. Very few cricketers in the Bangladesh is as popular as Tamim Igbal.
Few @9 #ta countable noun 2 |

Andy knocked on the door, but nobody answered. (which
part of speech is but)

A. Adverb B. Adjective  C. Conjunction D. None
Choose the correct option to fill up the blank space in the
sentence, "There is ......... on the roads today".

A. Too many traffic B. Very much traffic

C. Few traffic D. Too much traffic

Too much T3 7T | T too *IH0 sentence 9 (78 9T |

Choose the best option to complete the sentence, "The

greater the demand, N

A. The higher the price B. Higher the price

C. The high the price D. Lower the price

| SIB)why| T=! TARITS the T/9%© 2T |

Select the appropriate option to fill up the blanks. We opted
a reconciliation the dispute.

A.in, to B.with,at  C. for, to D. for, of

The word 'Lucrative' means-

A. good looking B. profit-making

C. professional D. marginal

Choose the proper option to fill up the blanks.

I perfer — what I like even though it — not having much money

A. to doing, mean B. doing, means

C. to do, may D. doing, mean

Perfer €90 %9 verb @d Y ing T& W € 3rd person

simgular number ¢ FECT mean @ AN s QLT AR |

| Ans[}]

[Ans}i]

G A @
A. Hund's rule
C. Pauli's exclusion principle

D. Heisenberg's uncertainty principle

B. Aufbau's principle

[AnsiH

C- sp’ ST I CT W
HH
—_—— B, H-C-C—Hi
A C=C et Al
noooH HH
C. H=CuC~11 D.©

3
ST W] @it eifefs C-ai1 4 o-T6 WE 9N ORI T sp
SEI GO |

T+ ASPECT SERIES + v ASPECT SERIES + » AGPECT SERIES ¢ ¢ AGPECT SERIES 4 + ASPECT SERIES + ¢ ASPECT SERIES ¢+ ASPECT SERIES ¢+ A

SPECT SERIES ¢ ¢ ASPEGT SERIES ¢4
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RIEHEYCIGE] AT AR &3 @ TIRIFR FAHT 351
39, ofir WeirgFeR AT TN @AD? 53. IR AT AGFSTS RoiTTa T97 (10110), | W Tt A&fors
A.F>N>0>Br B.F>N>Br>0 O IACT TG~
C.E>0>N>Br e s i A.21 B.24 C.23 D.22 [AnsD
U OfgR ¥Te F(4P>OB SPNGPB28) | 54, HTML @ 5997 e oy 3 FreBsray zett-
40. 3 0.20 moldm™ Far RfEF i@ 7S 3.0 x 107 moldm™s A oS . B <l smiiont. P
o, O i o :TE? aly —_— C. <--comment--> D. <!--comment..>
A.40x107s" B. 84 x 101_05; C. ;2&5 x 1077 D. 1.5 x 107 SIOIWhY] 5% B8 <I--comment--> | & T ST |
3 x moldm s 23 |
= =15x10
SIOwhy] e === — © T =15x107s 55. G e ReTem Snaet?

41. Fiefle R o6 0% WART T (T o¥eFe Sl

B. Address (4,8)
D. Address {4, 8}

A. Address [4, 8]
C. Address [4] [8]

w0 G o %7 HyC-CH,-OH (10%) Jicoderma acety e (RA) et ot 2 [ ] e |
H;C — COOH (aq) 56. (AL G JrORR AFLETT T2

A. The reaction is reduction
B. The pH of the vineger is above 7, so it hinders the growth of microbes
C. A food preservative

D. Micoderma acety is an acid acting as catalyst [Ans[@

A. Internet Explorer B. Google Chrome
C. Mozilla Firefox D. Windows Explorer

[SI®]why]| Internet Explorer, Google Chrome, Mozilla Firefox

42. fog Rfcraiee 3© @ 7GR o @@ H,80, 97| Qe 20T IoRe TEem |
gt F7 2KMnO, + 8H,S0, + 10FeSO, = K,SO, + 2MnSO, | 57. Register I959 T~
+5Fe; (S0,); +8H,0 | i. storing 0 or 1 ii. Addition 0 or 1
A. 6, oxidant ‘ B. 10, reductant iii. Data shifting
C. 10, acidic medium D. 6, reductant |Ans{@] e @l e
43. @I oI & oS A qeg = T . i s
A. CaS04.2H,0 B. 3C20.8i0,C AdSn P
C. a0.Al,0; D. ALO; [AnsPN C.igiii D. i, 118 iii | Ans[@
44. B9 @1 GRTI FITITS SoiffoT it e s1g e 58. GIBIATT T EFG Q@M FACS (FIW SQL GHO0T6 a7 T4t T
A. (ab) C=C(ab) B. (ab) C=C (bd) A. Select B. Insert C. Create D. Put

C. (aa) C=C (ab) D. (ab) C =C (de)

[SI@ W] fezae wiéav wwe «ahbre 3 we G 7 a3

TAF & AE Gl Syififes T emfq ward 1 |
45. GEEIS @R “Afemia?

[SIBIWnY] Insert GBBTFS <=1 0 Teq @FE Q@M T 2T |
Trizad: INSERT INTO tabel name (columnl, column2,
column3,.....) VALUES (valuel, value2, value3,....)

A. a-D-Glucose B. B-D-Glucose 59. Flowchart $t?
C. L-a-Amino acid D. Omega-3-fatty acid B A. Encryption algorithm B. Visual programming
46. Y7 e ¢ Sl witaw e Rierm aided pH AR @ib? C. Graphical interfacing D. Visual algorithm
A.42:63  B.30-100 C.80-10.0 D.00-20[Anstd ST T <54 & flowchart A |
47. AﬂGAﬁﬁ" ﬂt""’fl FI: e tﬁ_ |7{.t|3. ?W"Tﬂ? ‘ 60. THIT St RIS & (¥ (i (YT A ...,
. A catalyst cannot initiate a reaction A. Assembler B. Compiler C. Interpret D.N
B. The composition of a catalyst changes at the end of a reaction [Wh| Swtaa ceitaifire e os e NGHR
C. A catalyst is specific for a partieular chemical reaction 3]‘%@ ' \ O (CR: Java) WM T2
D. A catalyst can accelerate or retard the rate of a reaction [ Ansfi] s '
48. NaCl &7 *itp & Faeia o Regaeet fiwsa i Seety 2 2 st Teare KWRITTEN
A.Na B.H, . C.CL D. NaOH [AnsliY : : '
01. 2.0kg S %6 78 i wrgm Ao Wi 39w S g
aietEn N MCQ T B G TR o1 e T o GO @v-gdiet
49. aﬁgwm?wwwwaq@@mﬁ? @t e 992 e vt oieeT | wigronite Ta i we o7
A. Bioinformatics B. Biometrics .
C. Nanotechnology D. Robotics m; =2kg, u, = Oms™; v, = %l Vi= :: + ::: th
[SI@]whyY| Biometrics “@fore et &%, @™ wmm I B.m i
2fATe Afore GIu e e w4 | 7472+ my ™= 1.2kg
50. QAEGR FFEATCHIET MG T 3 eltfion fowr Fam Fet ewrt| 02, @ qgq G ©F O 6x10° ms”' @Y G [AERCE

TR afS 7

A. Trial and Error B. Testing and debugging

C. Coding and correction D. Look and Follow
51. e et 92
A. Knowledge based system  B. Knowledge system
D. Internet system A

C. Computer system

52. @M Wi-Fi €3 [EEE 575167

C. 802.01 D. 802.15[AnslH

S ST T Fef o | [ RfPRITE ST = 6.24 x107° J;
h=6.63x107" J-s, m = 9,1x10™ kg]

1 5 11 2
SOV WhY] 5 mv? = E - Wy=ho-W, .. v=} (5 mv’ + Wn)

l
T 6.63x 107X

= 1.188x10" Hz
RSPECT SERIES ¢

1 y
{Ex 9.1 x 107 x (6 x 10°)* + 6.24 x 10 "’}

A. 802.10 B. 802.11

—t TS —= mrree ..

ASDENT SERIFS o ¢« ASPFECT SERIES # ¢ ASPECT

SERIES + « ASPECT SERIES + » ASPECT SERIES + ¢ ASPECT SERIES ¢ ¢ ASP
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PRI

s e

1
03. X=hX=yaRy=2 T BT S RO AP o 7

04. % + kx — 6k = 0 &R x* — 2x — k = 0 TG G FARI T

05.

06.

sitve W WRITTEN

G CFAfbe o o |
Solve Y
v\ .
@2)
y=x
=x=y
Y‘“; 1
.5 =x=3J

X
faefar corareeet, A=f?(xz-x|)dy=fj (y—)—}z)dy

2ol -] ) e

Qe k 9 W T

Solve BN

4f, ST I o

o’ + ko — 6k

o’ -2a-k=0 (ii)

(i) T 8 (i) & Z0T TG T A,
o’ o 1

TK-12k -6k+k -2-k

o (= 5k)P=(k+2) (K +12K)

= 25K = k(K* + 14k + 24)

= k(K- 11k +24)=0

= k(k-3)(k-8)=0

- k=0,3,8 (Ans.)

=z W WRITTEN

oot Beeltit @ SroRAr fafeFara et e | .

Solve ETAIASUGRRERE :
mmaﬁafﬁﬁrmww@wwwwawﬁﬁm«m

Ay oTef Gesi RfEar A + B - C+D+Q (¥17)

i RfeR: o AT RRFITS St (IR 2 O STorRiat
fafewat aeT |

Ayraereie oreer RfgFr A+ B +Q () > C+D

§eq, A+B > C+D-Q(31)

firss Ao REs 0 FIET BI AeTHIR0ed R0 O ff
91

CSy(1) + 304(g) = COx(g) +250,(g) AH =—1109.17kJmol”*

C (s) + Oys) = COx(g) AH = —394.55kJmol™

S (s) + 05(s) = SO4(g) AH = —297.39Jmol ™
CS,, C 8 S @7 weafdfarat fza:

CS,()+ 304(g) - CO(g) + 280,(g), AH = - 1109.17kJmol ™
C(s) + 0y(g) = CO(g), AH=—3093.3KIMO] ..o (ii)
S(s) + 0(g) = SO4(g), AH=-297.39Jmol '
(i) ® A1, AH = {AHgco,) + 2AHgso,)} — {AHqcsy + 38Hro,)}
A, - 1109.17 = {~394.55 +2(~297.39)} — {AHycs,) +3 x 0}

a, AHpes,) =+ 119.84

.. CS, 9T F215% 1% 119,84 kJmol™

1

08.

09.

10.

—

. Boolean ex

07. e Rftrarett g 91

ether

1
(a) éwL Na+ CH;Cl ——

(b) CH=CH-2 *
(¢) H;C-CO-CH3+H;CMgl — A H O,

1
(d)é'i' CHCl; + KOH (alc) — A+B+H0
Solve B

1 :
(a) gj+ 2Na + CH,CI _ether, -\ 4+ 2 NaCl

0
=CH-2 2 H- COOH
(b) CH=C i

(C) H3C—CO—CH3+CH3MQI — CH3 -'CHJ,
CH;
H;

HO/H) CH,-C-OH + Mg(OH) 1
NC

NH, CH;
(d)©+ CHCl; @ +KCl+H,0
SIEINK NWRITTEN

Write a paragraph on "Impact of COVID-19 on our social

life.” ;

Do it yourself.

60 —70°C

+ KOH (alc)

R C G snippet 9G¥ WG0?
for(i=2;i<=10;i=i+2)

orintf ("%d",i);

246810|

ToItg R ST Ty AT A 9 |

o TG ((9BT) TAl ST THOH «IF | LR (BT IO T
4l | AT SEoe T T ANGAR T AT IS
FIOTET TR (ST A TARG 0T | s cubie e
F(a (@ 949 TR STl T OIS O I |

o (GBI 20 AfRFIFAE <4 SgT | TR TR AR T 4 |

o TG ((UB1) EAPIR _RT A I A WIS ©X7 TP
21T 41 AT |

o BoiierE eI A T | SIS ST SR a0 W |

o THTG (CWBT) WA @ @I e o SR e oA Al
wfie @Ry wiRT @ (e R s s & o |

o TG WX FOWA ROTA ARE T | SIS ©F
AT #17 S0y Feifsfe o |

o 37 TAMGR Oy 7 | WA 7 YR TS S A |

o W GITH QU AN, DI, @ TN q0Y TAS |
BAma 2ife e fofere tofd W Tk O |

yression FIYT I (TS @, "XAHX=X".

RERRWIY] X + X =(X+X)x 1 =(X+X)x (X +X)

=X+ (X xX')=X+0=X (Proved)

12. RDBMS 93 ERP @7 *feet o

SIAZd Why| RDBMS = Relational Database Management Systent

ERP = Enterprisc Resource Planning. -
S+ + AGPECT SERIES®

# ¢ ASPECT SERI
RIES ¢ ¢ ASPECT SERIES 4 + ASPECT SERIES ¢ ¢ ASPECT SERIES « ¢ ASPECT SFRIFS &« ASBEAT SEBIES 9 # ASPECT SERIES ¢ ¢ ASPECT SERIES ¢ ¢ ASPECT SETZ—

wRe Pifta® rors fofes s
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